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Read the passage and answer the following questions from 1 to 5.

Later half of the twentieth century witnessed emergence of new trends in Archaeology. New
discoveries in physical sciences and their application in archaeology resulted in an inclination
towards sciences. American archaeologist Lewis Binford pioneered the use of the methodology of
Scientific Philosophy in archaeological research. While in England, David Clarke proved that the
New Archaeological method of using concepts from disciplines such as anthropology, geography

and environmental sciences in furnishing archaeological evidences can extract much more
information.
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New Archaeology can be termed as scientific archaeology. The main aim of the old scbool
archaeologists was to establish the chronology of human culture with the help of excavations.
New Archaeology considers this a mistake; as archaeology is not just about chronology. I't considers
that it is the duty of the archaeologists to delve deep so as to establish with reliable e.ev1dence, the
cause and effect relationship behind every historical event. A simple example of this can be the
report of the Mohenjodaro excavation. There were seven successive layers of habitation before the
Indus civilisation finally perished. It was believed that the Aryans invaded India and desjcroyed
the Indus civilisation under the leadership of Indra, their chief deity. This was a Rigvedic evidence
of literary nature and how could it be completely relied upon ? There is no physical evidence of the
Aryan Invasion. It can be seen that the Indus civilisation died away because of climatic changes.
Scientific evidences conclusively proving this have been found. New Archaeology focuses on the
relationship between cause and effects,

New Archaeology has recently invited some criticism. Professor Ian Hodder from the
Cambridge University is a major critic. According to him, it is not enough to depend only on
scientific evidences for an explanation of cultural changes, but the context of excavated remains is
very important for their proper interpretation. This ideology, has therefore been called as Contextual
Archaeology.

Now some Archaeologists have moved ahead of this ideology. Socio-economic conditions of
man have always been studied, and now a study of the mentalities of ancient humans is gaining
momentum. How did religion and philosophy emerge, what were the thoughts in the minds of
the ancient painters - such and other things are being studied. Archaeology in the twenty-first
century is indeed going to be very different.

1. & faum m@h farer -
3y~ R o0 qrgwea qUeer favar S50 ey o,
_(b) <Al ATHHY Frearan it Qe STerey e,
gt I
@ (@) b), () & T A s
(2)  (a) 3O (b) B AT ST (c) & = YROMT R,
(3) (a) (U (b) ST 3RA, () IFT L.
@) (a), (b) M (c) § T 7T 3RA.
Choose the correct option after carefully reading the sentences :
(a) It is unscientific to believe only the literary evidence from the Rigveda.

(b) There is no material evidence available of an Aryan Invasion.,

(c)  There are evidences proving that the Indus Civilisation ended as a result of climatic
changes.

Answer Options :

(1) (a), (b) and (c) all are correct.

(2) (a) and (b) are correct and (c) is their result.
(3)  (a) and (b) are incorrect and (c) is correct.
(4) (a), (b) and (c) all are incorrect,
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(@) =AM =X () FriERE

(b) TE farmey (i) Gevuofi qua

(c) s e (i) SreRferemaRET e

(d) g v) fosmTen desTE vad

T I

@ (b)) (o) (9
B @) Gv) ) @)

) @) @) @) (i)

B @) @) @) ()

@) G) @) @) (i)

Match the pairs :

(@) Ian Hodder (i)  Relationship between Cause and Effects

(b) Lewis Binford (ii) Contextual Archaeology

(c) David Clarke (i) Interdisciplinary evidences

(d) New Archaeology (iv) Method of Scientific Philosophy

Answer Options :

(@) (b) (c) (d)

1) @) () () ()

2 (@(v) @ (@) (@)

G) @ @) @@ @)

@) @@ @ @) @)
3%

foraTea w1 STl JRATafaRreA & S0l ol foreRyeeg &siel ?
(a) GUAERTEAHE $Te(S ST SR T 7Y G e
(b) Feyuiiq quae fode B1s e
A (c) TSI IoAT AT AT ST Y el
(d) TaEterEn & fammrEe et S e A Shee A .
it 39
Ay Ee (d) & (© S (d)

AB) (@), () () A8 @ (¢) s (d)
Which new ideology took roots in Archaeology in the second half of the twentieth century ?
(a) Opinions of English and American experts in Archaeology gained acceptance.
(b) There was resistance to Contextual Archaeology.
(c) Mentalities of the ancient humans began to be studied.
(d) Archaeology began using scientific methods and concepts of sciences.
Answer Options :
(1) Only (d) (2) (c) and (d)
(3) (a) (b)and (©) (4) (a), () and (d)

O = /eDANE TOR ROIIGH WORK
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4. WMV QeI W
(b) STETA fHearelea awqan ey & o 1 FHS[A HvAS! AEvE AT
(d) AT HEH ST fafet ¥ QA ge SR o,

gt 39
Ny o (b) QY (a) 0 (b)
AB) () 3 (d) O O QI

According to Contextual Archaeology :

(@) Itis notright to depend only on scientific evidences while studying a culture.

(b) Itis necessary to understand the context of an excavated material for understanding
its function.

(c)  Mohenjodaro was destroyed seven times because of the Aryans.

(d) The main aim of Archaeology is to record the chronology of human culture.
Answer Options :

(1)  Only (b) (2) (a) and (b)

(3) (b) and (d) 4) (b), (¢) and (d)

5. UHEHEA YA UdE Gd o 3E HR
b Sl LR
(1) Hefyolid JRAERIE AHRe Tt 7.
) FTHHROTTE 81 U Heweral Hal S Se.
o). ST SERAT FeAr e JUETe ST L.

Archaeology in the twenty-first century will be very different because :

(1) Contextual Archaeology has been refuted.
(2) Cause and Effect relationship has gained great importance in Archaeology.

(3) Material evidence of Aryan invasion is not available.

(4) The mentalities of ancient humans are also being studied along with their social and

economic conditions.
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Read the following passage and answer the Questions from 6 to 10 :

40% water shortage by 2030

The world is set to face a 40% shortfall in water supplies by 2030 due to urbanisation, pressdres
of food production, population growth and the increasing demand from the manufacturing,
domestic and energy sector; said the United Nations. Ahead of World Water Day on March 22,
the UN released its World Water Report 2015 in New Delhi and stressed that the “water crisis was
one of governance and not of due to the lack of resource availability’. Even today, 748 million
people do not have access to improved and safe source of drinking water and the worst affected

are the poor, the disadvantaged and women.

In India, the report analysed, the groundwater or tube well revolution has largely contributed
to relieving poverty, but the increase in demand for irrigation has also caused severe groundwater
stress in areas such as southern and eastern Maharashtra and Rajasthan. In fac, the total number
of mechanized wells and tube wells rose from less than one million in 1960 to 19 million in 2000.
Groundwater stress is also a larger South Asia problem the report said. India, China, Pakistan,
Nepal and Bangladesh alone account for half the world’s total groundwater use, the report said.

“By 2050, global water demand is projected to increase by 55%, mainly due to growing
demands from manufacturing, thermal electricity generation and domestic use and the world will
have to produce 60 percent more food and the global water demand for industry is predicted to
increase by 400 percent,” said the report.

Increasing urbanisation is causing specific and often highly localised pressures on freshwater
resource availability, especially in drought-prone areas. More than 50% of people on the planet
now live in cities, with 30% of all city dwellers residing in slums. Urban dwellers are projected to
increase to a total of 6.3 billion by 2050. The growing population across urban and rural areas will

need 70 percent more energy and water is required to produce almost forms of it. The report
recommends a host of measures to limit water insecurity.
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(3) USTEYUT - Yerral
(4) W YW - foer
e
Which of the following states suffered from severe groundwater stress ?

(I) Eastern Maharashtra - Gujarat

(2) South and Eastern Maharashtra - Rajasthan
(3) Rajasthan - Punjab

(4) Uttar Pradesh - Bihar

7. A IO S SUers THAC @i TE T SR,

TR Sei™ IV e SR 3ATed ?
(1) e (a) 3T (b) (2) e (b) A (c)

(3) T (C) W Td

The following are some of the group of pepole who do not have access to safe water :
(a) Poor people (b) Disadvantaged people () Women

Which of the above group of people is/are correct ?

(1) Only (a) and (b) (2) Only (b) and ()

(3) Only (c) (4) All the above

TS FHTATETES 9T/ SPACE FOR ROUGH WORK e
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Which of the followin

) ure on freshwater
8 factor is/are responsible for highly localised press
resources especially

in drought prone areas ?
(1) Development of Agriculture

(2)  Industrialization
(3) Increasing Urbanisation
(4) Migration of people

2030 THd Weftel 2k 40% U Jeael fwio Evard Hruityd BIUR SATed

g e ) TR

(c)  STeTeTEqe=t Frd &y~ e a1

SRICTUhT HIVMT/ T Hedh qeare fHafor Srvam HRufyg SR s ?

(1) e (a) 37 () (2) = (c) S (d)

(3) ®H (o) A4y ®H (a), (b) ST (d)

The following are some of the factors responsible for 40% sho.rtfall of water by 2030 :
(a) Pressure of food production (b) Urbams‘ahon

(c) Development of water transport (d) Pf)pulatlon growth

Which of the above factor/s is/are responsible for this shortfall ?

(1)  Only (a) and (c) (2) Only (c) and (d)

(3) Only (c) (4)  Only (a), (b) and (d)

10.

Grefterient shivan feas SrTfaes Steffed e ?
(1) - 22 | 2) 22 Ty B) 2279 @ s
@h of the following is the World Water Day ?

: d
(1) 227 March (2) 227 April (3) 22" May 4) 5% June
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Read the following passage and answer the questions from 11 to 15 :

Population Growth

Population growth is a serious issue not only in India but all over the World. India is secong

largest country after China. It is estimated by 2035 India is going to SUrpass China and beCOming

number one, if population growth goes unchecked.

Demography is the science of population. It includes mortality, fertility and migration as
three decisive components of population growth. Its main concerns are the measurements and
discovery of uniformities in the basic processes of human birth, death, population movement and

population growth.

Prof. Melthus well known thinker on the issue of population suggested two basic postulates
(i) Food is necessary for the existence of man and (ii) Passion between the sexes is necessary.
According to him, population if goes unchecked increases in a geometric ratior(l>2,4, 8, ........ )
while the subsitence increases only in an arithmetic ratio (1, 2, 3, 4, -...... ). He advocated two

checks on population i.e. positive checks and preventive checks.

Population variables are of two kinds - stock and flow. The important source of information
is national censuses which is carried out in India after every ten years. Population enumeration is
due in 2021. This document is considered as primary which reflects on the trends of growth, rate
of fertility, rate of mortality, migration, rural - urban population, sex ratio, population of the
scheduled castes and scheduled tribes etc. Needless to say, it helps to the policy planners and
demographers to adopt appropriate policy measures to handle the population growth.

Taking into account the unchecked growth of the population the policy instituted by the
government of India to influence atleast one of the demographic components of population change.
Population policy seek to enhance the welfare of the society collectively. An effective population
policy rests upon knowledge about the demographic trends, its likely future course, and its causes

and consequences.

In short population policy promote small family norms, delayed marriage for girls, control
the spread of communicable diseases, reduce infant mortality rate, immunization programmes for

children etc.
All these measures, if implemented properly, will definitely bring down the growth of

population.

AT HIATETS W/ SPACE FOR ROUGH WORK
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(a) oIS AT s Hh (kinship) =i 3e. 641886

(b) TAIREEAEREE Ffere Hifedt o 7@ LA Ad.

Q) T I SfaerEr i o,
(d) mq@ﬁamq@mﬁmﬁ?ﬁvﬁa&mm%mwm%um.
I I

(a) ST (c) R ey (o) s (d) R
43 (b) ST (d) TSR 4)  (a) 0T (b) AT

What do you understand by reading the above passage ?

(a) Itis a discussion on kinship.

(b) It is brief discussion about the population growth.

(c) Itis a description of an ancient history. .

(d) Got insight about three factors which are decisive to and for population growth.
Answer Options :

(1) (a) and (c) correct (2) (c) and (d) correct
(3) (b) and (d) correct (4) (a) and (b) correct

12. HETH= WUUHHER THEEE gEeR SYT = AT T TrE el T ATEd STEa.
(a) SO b e () TR (d) IF
it 9
(1) T (a) SR 2y~ ® (b) TR
(3)  (b) SV (c) SIS (4) R (d) SRR F i '
According to Malthus population if goes unchecked increase population in ratio.
(a) Arithmetic (b) Geometric (c) Multiplicative (d) Zero

Answer Options :

(1) Only (a) correct (2)  Only (b) correct

3) (b) and (c) correct (4) Only (d) correct
13. YRGS ARHE SR el I e FredTed <d ?
(1) Hfears STEATH
(2) SRERIR T - .
(3) A=Al HIS SHRI AT Heheien Fae Bl
_(4)y— FHarHl TR DN

Indian population policy promote which of the following ?

(1) Women spirituality
(2) Illegal abortions

(3) Large family size pro
(4) Small family size

tects from social evils
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14. YRGS S@dt dreraen FHEte soamE aE Wl‘?’f/?ﬁ SIS 01 STATATIH 3TE ?

) e as (b) eI TSR

(0 it foreifar foamer wioares f@ TSR
it 3N

(1) % (d) s (2) T (a) SISR
3y W () TR 4) (b) SO (c) TR

In order to control the population growth in India which of the following measure/s is/are
important ?

(a) Increase in infant mortality rate (b) Employment to men

(c)  To promote late marriages of the girls (d) To promote fertility rate
Answer Options :

(1)  Only (d) is correct (2) Only (a) is correct

(3)  Only (c) is correct (4) (b) and (c) correct

15. AIHHEA SHTH GeH % J06G 8 2
/@a/?ﬁa:q@%rﬁhm
(b) TR

Wﬁﬁﬁm(mﬁz)

_(dy” T - A yR e e e

it 39
(1) e (a) SR (2) $ (c) TR
(3) e (d) I 4y =l wel SR

What we comprehend from the population census ?

(a) Sex ratio of the population

(b) Rate of fertility

(c) Mobility of the population

(d) People living in rural - urban area

Answer Options :

(1) Only (a) correct (2) Only (c) correct

(3) Only (d) correct (4)  All the above correct
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Read the following passage and answer the questions from 16 to 20 :

Federal finance in India

Governments may be classified into unitary and federal depending upon the concentration,
and distribution of power and the relation between the central and local authorities. Under the
unitary system, whole power of government is conferred by the constitution upon a single centra]
organ and local governments derive whatever authority they possess from this central organ. This
system of government is prevalent in the UK, France, Germany, Austria and most of the countries
of Asia. As against the unitary system, federal system provides for a distribution and division of
the individual states of which the federation is composed. The general principle of division of
power is such that affairs of common interest to the federation as a whole and thus requiring
uniformity of regulation are placed under the Central Government, while all local affairs are left to
the state governments. The two classic examples of federal system are the USA and Canada.

After Independence, India also opted for a federal system of government on the lines of the USA

and Canada.

The distribution of powers in countries adopting the federal system of government defines
the financial relations between the central and the state governments. However, there are some
special problems that have to be grappled within federal financial system. These are : (i) The
sources of revenue assigned to the centre and the states should be adequate to enable them to fulfil
the functions allotted to them. However, in modern states, it is frequently not possible to ensure
this and it is highly unlikely that the needs and resources of each government will be exactly
balanced. Therefore, it becomes necessary to evolve a mechanism of adjustments so that shortage—s
and surpluses are evened out; (i) Each government should have independent financial authority,
Le., each government should have separate sources of Tevenue, powers to levy taxes and borrow,
and to incur expenditure to carry out its functions effectively ; and (iii) A certain uniformity should
be ensured in all areas of the federation so that no preference is given to one state over the other as

regards payment of federal taxes.

AT SHTATATS ST/ SPACE FOR ROUGH WORK
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What is/are a determinant/ determinants of financial relations between the central and state

government ?

(1)  Sources of revenue (2) Heads of expenditure

(3) Both the (1) and (2) (4) Distribution of powers

17. WEA SO A€t Rery woam sief 31
(a) W e s o wie s,

(b) TAF FLHRET T Hegel Qe HE.

(c) R STHRUATY WG 31T,
(d) T R Teger e = T e g At e AN
it I

() \(a)he (2)  (a) 3T (b) T
(3 (a), (b) foT () ek (4) FUATR! T
The present passage recommends this :

(a) Independent financial authority in a federal system

(b) Separate/Independent sources of revenue for each government

(c) Powers to levy taxes

(d) Equal disribution of federal revenue between central and state government

Answer Options :
(1) () only () () and (b) only
3) (a), (b) and (c) only (4) All of the above
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18.  Sirew wiman,
WY -1 w9 - 11
(@) TR TR (i) SR, eAffegan
(b)  HE TR (i) W
() A%, wr (iti) e T T TR TR Ay
(@ 3FuEm, ﬁﬁa\) T T TERHS e
REIRIES Ty
@ () (o ()
O A VI (O e
@ v @) @ @
@ 0 @)
@ @ (v @ g
Match the following :
List - I List - I1
(a)  Unitary Government () Germany, Austria
(b)  Federal Government (i) India
(c) UK, France (iii) Division of Power between Centra] and State
Governmentg
(d) USA, Canada (iv)

Whole power upon Centra] Government
Answer Options :

@ () (© (g
D @) 6 () @
@ ) @ @ @
@) @ @ ) G
@) @) (v) @) @
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(2) e snfor YRE head

(4)  F.%., I, STEAT 30T A

Which of the followi i
OWIng countries have adopted a federal system of government finance ?
(I) USA and Canada only

(2) Canada and India only

(3) USA, Canad '
ada and India only (4) UK, France, Germany and Austria

20. ara faum)/faam s

() T oaoen sy afn T TR foe wa ffvea e A

.

(b) T ZEXe Ty weRmH fasda day fifveEd s,

(oY EET e the 3t oo Wi Oefter fasia dew fafvem .
(d) T TIhR How T S Hefie fomia gey fAfv=a &

L 15 W3 £

(1) T (a) MO (b) SN (2\} T (a) 20T (d) SR
3)  waE (c) 0T (d) SR 4 ¢) se
0(\) (©) ()/ yma()

Identify the correct statement/statements.

(a) Federal system of government does not define the financial relations between o Central
and state governments. ;

(b) Federal system of government defines the financial relations among the state
governments.

(c) Federal system of government defines the financial relations between the central and
the state governments.

(d) Federal system of government defines the financial relations between the local

governments.

Answer Options :

(1) only () and (b) are correct (2) only (a) and (d) are correct
(3) only () and (d) are correct (4) only (c) is correct
WORK
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TEIeT SANT ATe[ TR SATenfia wod wuishs 21 4 25 = Iw¢ .
YerToita duie

FERTRITET HHTE foe[q et i quivems) TR, Yeah ai (3= anand ford e @) 3
H@ﬁgﬁgaaﬁ‘qamaﬂ%a 1%ﬁ\l,?’f?J,.?’Fﬁ'q?ITTI(Elect&romagneh'c Waves)%WHW(W) 2P
T fowmomed gu=n foshmof wanfeq @ omar. awat (Frequency) d o @t (Wavelength) 7
WWWWWW mmm(specﬁum)mmﬂmﬁmw
T ST, A AR 50 Ty 7 e qemeh awefa 20 e A 20 fRel 0 s,
TWWWWWW. FUveTER IS STEUTAl QT ARl ded Sy

| Xfesht Tl arafan 10 forelt wem & 300 frm eded SO SRR, TR Qe (AFEERA)
RO 1 fm &ésm & 300 T woew wda oo, i avivermsd anaiEsl watE 3x 1011 3
3X101° TE5H TAH! ST, WS SR (Infrared) A (ultraviolet) TE T4 FHNIH TGS
Wﬁwm S THR THTOM SRR (Frequency) 4.3 x 1014 7 7.5 x 1014 2239 a1 3TH0. Yo
WW%WWWWW SES T A (Wavelength) =1 Seei@ el ST,
T AT VI HIeX B Tohehraed S SaeImsier siqt SsvamErst e Sar. YRIRI=i 0T el a1faery
FH ST, it T STora HrErhier Thwme dee s, T TR ROl T st wafen e
400 9700 TR fefham 0.4 ¥ 0.7 WIS a9 ST, STi¥eodT {41 ThTRE TT At el e, av
HAIH (Infrared) Tehrel ferzor=n &ia : STl S ST, ERUIRGIE e ey aﬁ:ﬁa}
TR warfey et g =

Bl ThRI=T T
aﬁm%mmwwmmwmm%@m wﬁﬁmm%an

A AN He ¥ TN, T it ST AR A T s s
Tl el S fora e fd T WA SR, TS T il
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Read the passage and answer the questions 21 to 25.

The Spectrum of Light

The light is kind of elech:omagnegspectrum. Radio waves are elewe‘.
Any electromagnetic wave is made up of electric and magnetic fields that travel through space
from one place to another. The basic characteristics of th§ électromagnetic radiatior) are its frequency
and wavelength. To put light waves into perspective with lower radio and other frequencies. The
left end of the spectrum is very low frequency electrical signals such as AC Egy_v_e_r_gg_fﬁ'ﬁd_audio
or sound frequencies in 20 Hz to 20 kHz range. These are the lower frequencies that have long
wav.e}S&ﬂm. Higher up frequency scale to right is wide range of radio frequencies.

@a—cm) frequencies range frorrﬁlo kHz to 300 GHz. Microwaves extends from 1 to 300 GHz.
Even further up the scale we find visible Tight. The frequ?r.lcy of Optical spectrum is in the range of
3x10™ to 3 X 10'® Hz. This includes infrared and ultraviolet as well as visible parts of the spectrum.
The visible spectrum is 4.3 x 104 to 7.5 x 104 Hz. But we are rarely referred to the frequency of
light. Instead we state light in a distance measured in terms of the meters between peaks of wave.
Light waves are very short and are usually expressed in Nanometers or microns (one millionth of
a meter). Visible light is in the range of 400 to 700 nanometers (nm) or 0.4 to 0.7 micrometers (p.m)
depending upon colour of light. Short wavelength light is violet and long wavelength light is red
colour respectively. Right below the visible light is region of infrared rays cannot be seen. The
source of most infrared is heat. Right above visible spectrum is ultraviolet range. Infrared and

ultraviolet are included in what we call as optical spectrum. Beyond that are
x-rays, gamma rays and cosmic rays.

Light trfzsl_s_'uf’st_r_ai_g_ljt line. Light rays emitted by a candle or a light bulb, move out in the
straight line in all directions. Light travels at the speed of 300,000,000 meter/second. i.e. 1,86,000

miles/s. The speed of the light depends upon the medium through which light passes. The above

speed of light is in the free space means light travelling in air or vacuum. When light travels through

glass medium its speed lowers.
oS el cs -

Light can be manipulated in many ways. Lenses are widely used to focus, enlarge or to
decrease the size of the light waves from same source. Lenses permit useful devices such as cameras,
binoculars, microscopes, and telescopes. Reflection and refraction are the important characteristics
of light. The law of reflection state that angle of reflection is equal to angle of incidence. Refraction
is another characteristic of light states that it’s bending of the light when light rays passes through
one medium to another. There is relation between wavelength, frequency and speed of the light.

Wavelength is inversely proportional to frequency. Unit of the light is generally expressed in terms
of nanometers or micrometers.
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21.  STIUHI W1 fopaor=h sRanfar € Siven e wehny fpoon ver

(1) HH 3/Eq (2) S eq

(3) SR e (4) =feTdent T A

Frequency of infrared light is than violet light.

(1) Less than (2) Greater than

(3) Equal to (4) None of the above
22. YEHNT Uwe Heq e oo W,

ax i (2) Hde

(3) Trcfiex (@) sufor AT

Light unit is generally expressed in

(1) Meter (2) Centimeter

(3) Millimeter (4)  Nano - Micrometer

(4) =t w@g

Optical spectrum consist of

(1)  Visible light and ultraviolet light
(2) Invisible light and visible light

(3) Infrared light and visib]e light
(% All of the above
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RIS T HE&a: SEE o)
(1) IIhE T @) g
@) faga s @@ (4) e T T
Light is generally in the form of :
(1) Magnetic Waves (2) Electrical Waves
(7" Electromagnetic Waves (4) ‘None of the above
WeRTeIrEn o 3T,
MWW ) 3x108ﬁ?_ir'qﬁ'iqﬁ\ﬁ$‘a
(3) | 3% 108 TerelizL UfTEHS (4) 3x108 g9 FfaHhS
Speed of lightis
(1) 3x108 m/s 2) 3x108 cm/s
(3) 3x10% km/s (45 3x108 inch/s
FoT FHTATEE S/ SPACE FOR ROUGH WORK T
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TR IART AT =R W9 i 26 7 30 = I FoT.
GIERE S|

St @ dfi w2 = srraets s HH o . e A
e e et T, AT T e 4 e S e AT S 5 Ao,
FrellEEge S FT A, S e @ s FH yEoT SR e @ @ e S e
TR ST SR ST, & Saeraian See) = ey e e Wy S TEfE T
1 Hfed et Je1 i ShaTEe A, Stasare B, st C, S D el i T SR
S H; S, sfegide, semrefen i gl SarEw o daEE 79 8.
ST Tt e T GeSeTR i S Y, e, R, TR e s
HIA-HEHEA 1 AT siies@e! T, Q)r\

ST FefamRor qifferon & g favsso starae aya REme fEReu st
FH HA WA, B IO S S T i e § see 97 AaT o Siee A, D, E i
K ® =emed foreaomt s, AT feEesudt Shameee SRTd |1eH  T@IdT; ot Scafsid shefl S ot
A foaeu Steras & YRR weast s, AT HRUHS TR foereeu= S
WAWDWWHW%.

WawWA%ﬁwmwmmmm,WAsﬁaﬂw@
FARA T TATSI0N AOM.  SHaTaea A 3 UG Th F1 v TSt Sqee e et
Yferier steren STl A % ) TRaAs SR ) SR, 9, 9, St e, W e g A
3. TS A ST A ® oAt wn W T, wn Sy fagsar t-
FUTCT-ATET TN 74 S84 3 IR TeaeR St A Hell see WU i ¢ ‘fegdfiq A" 3 Harya
ST

WD%WWWWWWW WRIGSTHYT 3Tl
mmwwm%mﬁwmnﬁﬁmsﬁwapm

FATFRI e fh & e sHaen Feede Ry SeTms D we w5

AT, mlquwD%ﬁWﬁﬁmmaﬂﬁzaﬁqﬁﬁWW%aﬁ WM HeAHE
SfteE D = A 200 - 4001U@%Wm3é S TS MY YT Wew Iuera
.
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Read the following passage and answer the question no. 26 to 30.

Vitamins

Vitamins are organic substances present in small amount in many foods. They are requir'ed
for carrying out many vital functions of the body and many of them are involved in the utilization
of the major nutrients like proteins, fat and carbohydrates. Although they are needed in small
amounts, they are essential for health and well-being of the body. When these vitamins are
discovered on the basis of their function and before their chemical nature fully elucidated, they
used to be designated by affixing the letter A, B, C, D or in terms of their major functions, viz
Antixerophthalmic, Antineuritic, Antiscorbutic and Antirachatic Vitamins. After establishing the
chemical nature of these Vitamins, they are now refered to by their chemical names such as Retinol,

Thiamin, Riboflavin, Ascorbic Acid and Chole-calciferol.

Vitamins can be broadly classify as water soluble and fat soluble vitamins. B-complex Vitamins
and Ascorbic Acid belong to the former group while Vitamin A, D, E, Kare the fat soluble Vitamins.
Water soluble Vitamins are not accumulated in the body, but are readily excreted while fat soluble
Vitamins are stored in the body. For this reason, excessive intake of fat soluble Vitamins,

Vitamin A and D can prove toxic.

Retinol or Vitamin A is necessary for clear vision in dim light. Lack of Vitamin A thus leads
to night blindness. Another function of vitamin A is to maintain the integrity of epithelial tissue.
Retinol or vitamin A is present in some foods like butter and ghee, whole milk, curd, egg yolk, liver
etc. In vegetables food Vitamin A is not present as Retinol. These food contain yellow pigment
called Carotene which is converted into Vitamin A in the body. So they are termed as
Provitamin A.

Vitamin D is required for bone growth and calcium metabolism. It plays an important role in

the absorption of dietary calcium from the intestine and its deposition in bone.

Vitamin D is formed in the skin by Ultraviolet rays present in sunlight which convert a
cholesterol derivative present in the skin to Vit. D. Lack of Vitamin D leads to rickets and
osteomalacia. The Vitamin D requirement of child is placed between 200 - 400 IU; which may be
obtained in great measures in tropical countries through exposure to sunlight.
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26. TS SfuerEte) Yeteen tast weie TaE Ted S
(1) e (2 wEHAEs @y’ Hf (4) HUfEAEY
In vegetable foods, instead of Retinol following chemical is present :
(1) Curcumine (2) Curcuminoid (3) Carotene (4) Carotenoid
27. @l R M Foa e & g D an?

(1) SIEaTEE D’ R ST TR Avare) Gy S S
27 iE{uEn S Seeee D R s T,
(3) SeE ‘D’ =1 FARAYe e d.
(4) SiETHE ‘D’ ® SRS favsmom s,
Which of the following statement regarding Vitamin ‘D’ is false ?
(1)  Sunlight exposure is necessary for formation of Vitamin ‘D’ in skin.
(2)  Excess of Vitamin ‘D’ is not harmful.

(3)  Deficiency of Vitamin ‘D’ leads to Rickets.
(4) Vitamin ‘D’ is fat soluble.

28.

Geiel ae e 314

(a) “tféia_, me—mmﬁmam.
(b) ~ STeFTEe FH JHOG S THAw.
(c) Sioeifees 3, MeATer SNt AT & HeTae e

NG ST A S STEE ST T80 01§ TSI FRONYT 9,

ST v i i 7
M) (@), b)) TIT T () (o) A (b) ST M
(3 (o) o (d) ¥ e amea @) (@), () 3 () & T MR

Read the following statements :

(a) Retinol, Thiamin, Riboflavin and Chole-calciferol are Vitamins

(b)  Vitamins are needed in small quantities

(c)  Ascorbic acid, Retinol and Chlorofin are Vitamins

(d) Excessive intake of vitamin ‘A’ can lead to night blindness

Which of the option given above is/are correct ?

(1) (a), (b) and (d) are true (2) (c) and (b) are false

(3) (c) and (d) are false (4) (a), (b) and (c) are true

AT KU SAT/SPACE FOR ROUGH WORK
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09, oM HeAHEd SaE ‘D’ = YA Tseg ArTd , o
(1) 200-400 A% (2) 20-401U _(3)~ 200 - 400 1U (4) 200 - 400 AIFHEIH
Requirement of Vitamin ‘D’ in child is '

(1) 200-400mg (2) 20-401U (3) 200-4001U  (4) 200 - 400 pg

30. SaEEE st 3@ el S .
1) Hfex sufor swife
(2 e faveeuTd it qroar forseEu
(3) YIS 301 STAELHF
(4) HI AT STHTA
Vitamins are classified as
(1) Organic and Inorganic
(2) Fat and Water soluble

(3) Essential and Non-essential
(4) Saturated and Unsaturated

ST ST e e 9 shuieh 31§ 35 = Sa< . .
WW%@@@W ySTdi SI Ueheh Nﬁﬁﬁﬁmwwﬁﬁm/w@w
Heiferq od o7 6.@%%@%@@;@%. pPLSCIRE
W%wwﬁmwaﬁﬁm@wﬁh%ﬁﬁa@ﬂmmémquﬂm
36.5@%Wm@m%awﬁlmaﬁhﬁﬁawﬁssgﬁnﬁéﬂawﬁmﬁ.
e T SR e T P A TEeeA Hier, W% <4 1 atm=101.325 kPa S
ammmmmnﬁaﬁﬁm,%zum—%ﬁqﬁasﬁmﬁ T TS STUT IR Sl el S0

PV _ BV,
SV _ 2272 guqee faesq ekl
WWWH@W T, T

WWWWWWN:W(WW) smefid « A (M),
ST (N), GFEE (F) S aegar (AT FTaeis ) SME : e (m), THIA (x)
yeffq weam.  TERv] Held, M,ﬁ@mﬁﬂﬁammmﬁ%ﬁaaﬂ%ﬁmm,
W,N,%aﬁ@a%ﬁ%waﬁwma@aﬁmmmﬂamm(m
W>=mﬁmmm<wm>mwmmﬁm
efterToadi= vl THd. e, N, € T HSraHie g @ S R e ed
B 3. wmﬁmwm,émﬁmwmw
TEEIH Fi= U . Syt T BT AHCAMRIE S, T BT T8 I 1 S 1 T
o T, 3 1 v eI S e a1, AT o et
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29. RN YW Soqd ‘D’ o WHIU UeEs e
(1) 200-400 fF  (2) 20-407U
Requirement of Vitamin ‘D) in child is
(1) 200 - 400 mg (2) 20-401U

_(3)~ 200-4001U  (4) 200-400 HAGhTIH

(3) 200-400TU  (4) 200 - 400 pg

30. ST IR 3 TH Hey TR
(1) dfsz enfo smiifes
(2 T foraert snfor e faveeom
(3) STHERI®: 3Nf SHEYTH
(4) WIS Mo STE
Vitamins are classified as
(1) Organic and Inorganic
(2) Fat and Water soluble
(3) Essential and Non-essential
(4) Saturated and Unsaturated

YR SANT STl AT SR W9 huiah 31 7 35 < 3¢ .

HId © 318 U TEE Y= S| T 28 1 91 JeHi™ o THEien o=/ qeneiean g
Haiftrd STEd ST I 6,022 x 1023, ST FHichreas o wgai=n FA HU FEA.  TRoEE
T ¥ N THECE TR e Vel ot SEgHE STE S o Saul @ WAt ge e
36,5 U0 T A0 BASSHY SUEEHH 1 ST Felifie SIUERgAM 35.5 U9 A=l als e fHaad 4d.
AT GaETS TR S T ATy TRiete Her, WHE 99 1 atm=101.325 kPa M
TUEE (273 K) TSl 9es, & 22.4 F-SfAHiet 30 STed. &+ S8 AAU IV SqT <@ 3o
b, . Rolvy
T Ty

AT Sheald ST a1 HHTeRTT A% fHose] Srehdl.

AT T wemetE Gefd M YER : S (AIHME Seeed) SHfE @ WEE (M),
T (N), Gerd (F) Ao e (TR ST Tet) S : el (m), TaRus ()
wefstq Fear.  dE) Hefd, M, € T SFSfHHIER FEuN @ g fhdt W smed arer Sk,
TEME, N, § o U Hefdd ST HEER Thh € H W faveie gagert g (qifed
T ) = W SRR T (Hifed SEcell) S Fege StETe favervoma sifufohan
T SawrRd . T, N, & U HASfEEieR Seme @ greArEt fahd e s
W S0, T JEEtE SRR T T, € SRR SRgET SO
THEAHR 79 Ul ST, ST S T S ] S " FTET ST SRGH hi ST 1 R
E@WW%,@WWWKWWW&HW”.
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aqfﬂmféfammmwmwﬁm@mmﬁ 3. ¢ faer, ded
T WM @ farel gEvT Ao fhe wner Ge sadE Sl ies a HewErA T

STETHTTIER SFACTLT STHTCH; HITA () TevISI T fefeinim grarshiaes) foreeaered 2= Here;
STIT TRy, (y) Gl UShT SIS STOIHe) T ST FaRvsiel & < Usheh 3T
(ST FEAM : H=1, He=4, Ne=20, N=14, O=16, 5=32, Cl =355, Ar=40, Ag=108)

Read the following passage and answer the questions from 31 to 35. . :

The mol is a SI unit of the amount of a chemical species/substance. It 'lS always assoc1at'ed
with the formula and contains 6.022x10%%, Avogadro’s number of particles 9f the species
Tepresented by that formula. The molar mass of any chemical substance is the mass in gram of one
mol of that substance, this can be obtained by adding the atomic weights of the COIIIpOI'IEI"lt elemen.ts
present in the formula of the substance (eg. molar mass of HCl is obtained by adding atomic
weight of Hie 1 and Cl je 35.5 =36.5 g). The molar volume, ie 22.4 dm? is the volume of ane mol of
any gas (assumed to behave ideally) at 273 K and 1 atm =101.325 kPa pressure (STP). This volume
can be converted to the volume under any condition of temperature and pressure by using general
PVi _ BV,

T Doy |

gas equation

Chemists express the concentration of chemical species on the basis of volume (temperature
dependent) ie molarity (M), normality (N), formality (F) etc. as well as mass (temperature
independent) ie molality (m), mole fraction (x) etc. The molar concentration, M, of a solution of

any chemical species is the number of mol of that species present per dm3 of the solution.

ntration as the number of equivalents of an analyte

concentration) added. As a consequence, the stoichiometry of the reaction need not be derived
every time a titrimetric analysis is performed. Normality is the number of equivalents of the solute
present per dm> of the solution. The number of equivalents is the ratio

in a kg of solvent and mole fraction, X ie the fraction of th
present in the given solution.

(Atomic weights : H=1, He=4, Ne=20, N=14, O=16, 5=32, Cl=35.5, Ar=40, Ag=108)

TRl THIHHIS! SR/ SPACE FOR ROUGH WORK
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31. T STIATEA FoReravm, 25 wraifiniioy y
’ 0.1 N Arafgerame wHferter 0.25 N 9r2fozm
TISIES JofTs stfirfiran s
1) 100
1) (2) 10 (3) 250 4) 25
In a titrimetri i 3
- 8.25 §n1e< OIE-I analysis, 25 cm3 of 0,1 N HNO, would react completely with ___ cm”’
1) 100
1) (2) 10 (3) 250 4) 25
| 32. 3?4-9’1“%804%\/%313%%,a@wmoﬁrwmmo.ozsmaﬁm,m
_j TE R
1) 4 (2) 2000 (3) 4000 4 2
4.9 g of H,S0, is present in V cm?3 0.025 N solution of sulphuric acid, then V =
1) 4 (2) 2000 (3) 4000 @) 2
33. 7 UH IIEY AN N, 2 atm IEE S0 546 K qOHHTd dm® Ta% H %o 3THd.
(1) 5.6 @ 112 (3) 224 @) 313.6
7 g of gaseous nitrogen N, occupies dm? at 546 K and 2 atm.
1) 5.6 @) is2 (3) 224 4) 313.6
34. 10 ¥H S1gEY GEASISHEE H,, A <@ S0 AOHHE eFeSEE el S7EaE.
(1) 10 2 5 3) 1 4) 0.1
10 g of gaseous hydrogen H,, at NTP/STP contain ___ mol of hydrogen.
' (1) 10 2 5 @) 1 4) 0.1
}ﬁ
! 35. WURIMGAER STHEICA WG ATRUATHISY, e Hivie feaeh @retierien e 4 wef

Ueheh/ Ueheh B/E ST/ 3.
(1) ad T (2 FR TEEEW (3)  FHR Hioed  (4) 909 g6

On any day of the year, to use in laboratories at sea level the most correct concentration

unit/s is/are

(1) Only molarity (2) Only normality (3) Only molality (4) All of the above

HEAT FHIATETS T/ SPACE FOR ROUGH WORK
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mewmﬁammsﬁmoﬁﬁ%m

WWT@%WWWWW g uftfeerdi=t @uit ArTo e @
el AT AU RT ATe 3 RO A, @wmg’t@m Wﬂﬁﬁﬁﬂﬁ?’lmm
IdeATaR e WTEiHEer G areqre dsat SHd 2. @@a@imm 73 =
ST 74 =N SEAGEEN HEEiA w anfor T AfvrEr o i’ AN e ST JAYd "
W%ﬁmmmﬁmwwmﬁwﬁmwﬁﬁ AT fEr He
*fererefamam’ mmmﬁmmﬁawmﬁw%mmmﬂ
ForF Tl T W SR ST ST Tevie g, w2 Al STge Sreere et fashaisr e
HhCTTE SR FETAS 1 S Geefie Ferea wisftal ToRedTs) gfaferd fag 4. e s e’
a9 * urifrera’ o T Sfqule S qeE e AR QIR 3 e, 0o = A A
TEH 2. @W&%WW%R@WWN@WWWWWW
T TEU AL, Srefe, HEA HEIe! YT ST R HHSel vl ged quidor STeneA o i
SO TS R ¥ T R, Seeied Hedie HE S T Wi, S o ik et
SRR ez AVAHIG! ST AT Aeedd &l Jedidl see I S ¢ GAS Hdc ies.  qayd
T fogid Woe @ Felea e aien A9 famee g dar wdl. e SR A s Fee
ffifdi= S9e= F1 9 Hare AT YR A ATl Hishere HerTdl [CehfavATs Sereart
A=A HEA Tah A HAIA q@id FHHi0 el 3.

Read the following passage and answer the questions from 36 to 40.

Conceptually, the idea of basic structure is not sacrosanct, but is not amenable to change if
circumstances so require. An example will suffice here. The federalism that the founding fathers
prefered was articulated as a scheme of distribution of power between two layers of government -
one at the Union Level and other at the Provincial Levels. The Seventy-Third and Seventy-Fourth
Amendment Acts, in fact, altered the basic structure of the constitution by introducing ‘a third
tier’ besides the Union and States and was therefore ‘Violative’ of the basic structure. The
introduction of a third tier is a striking distortion in the prevalent two - tier structure of governance
because this change is in the direction of greater federalism than what exists. However, these
amendments were appreciated for having translated the notion of ‘democratic decentralization’
into practice and are thus reflective of the organic nature of the Constitution. Similarly, the
introduction of the terms, like ‘Socialism” and ‘Secularism’ (though the former considerably cost its
salience with the adoption of the 1991 New Economic Policy) did not disrupt the basic structure
simply because these changes evidently commanded ‘general assent’. What is thus critical is the
fact that the values of the Constitutional structure that are considered ‘basic” or ‘fundamental’ are
not entirely sacrosanct, but are amenable to change if it is absolutely necessary to keep pace with
the Social, Political and Economic milieu. Although the basic structure doctrine creates a contentious
space, it none the less has struck “a balance, if an uneasy one,... between the responsibilities of
Parliament and the Supreme Court for protection of integrity of the seamless web [of Constitutional
Democracy in India].”

FH=T FHTHTETS! A/ SPACE FOR ROUGH WORK
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The New Economic Policy adopted in 1991 was
(1) based on Socialism

(2) %mt at all related to the principles of Socialism
(3) indifferent to the concept of Socialism
(4)

4)  praised the principles of Socialism

37. 1991%%%@%%&@%@@@%%@@%“%@?

g} HHISETS (b)  wEfRYem (c) e (d) HEREITE
Aok IS UAT

A (a) B @) @30 G @3( “4) @%@
Which value cost its salience with the adoption of the 1991 New Economic Policy ?
(@) Socialism (b)  Secularism (c) Democracy (d) Federalism
Correct Answer Options :
(1) Only (a) 2 @and®) () @and(© (4 (2)and ()

38. 73 1 o 74 1 Sl GEEN HIEl R eIt HA FEAIfad shel et ?
Loy ST T&01 &
oy T
Ale) AT T 21 & 18 R Hefaret
Hd)  FHEET gewiEsEt
3T ST U
What was introduced by the 73'¢ and the 74" Constitutional Amendment Acts ?
(a) third tier of government
(b) democratic decentralisation
(c) reduced the age of voting from 21 to 18
(d) rules regarding union territories

Correct Answer Options :
(1) Only (a) (2) (a) and (b) (3) (@) (b)and () (4) Allof the above
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39. Yelcient Faed faumm HIuRY Hendt’ vifaet s ?
_J(a')/ﬂmmmﬁmmﬁim
(b) TEmEN Hheuar 3¢9 fahar faswraren gafy qie.
(c) HARR I e el fafteien 7q waren deren g,
(d) | S I 8 et Qe Hehe,
aﬁ@méuah:
O @3mE) @ @A @) @) @) (b) ()

Which of the following statements imply ‘general consent’ ?

(a) support among the people.
(b)  general rise or growth of a concept with agreement from all.

(c) acceptance among the electorate and their representatives in Parliament about a policy.
(d) doctrine about the general collective intellect of common people.
Correct Answer Options :

(1) (a) and (b) (2) (@) and (o) (3)  (a) and (d) 4) (), (b) and (c)

40. aﬁwaawa@ﬁuﬁeﬁmwwwwmﬁwmaﬁwﬁﬂaﬁww
/@;\)\ Hﬂé?ﬁaaguamwéwwﬁwaﬁw.
(b) WWWWWW@%W.
(€)W, Seis o T Rferiron s A et e sk o
(d) WW#WWQWWWW

3Te[eh IS U1y ; s
(1) e (a) @) (@), (b) 3for ()
47 (b), (c) Ffvr (d) (4) et u

On what grounds are changes in aspects of the basic stru

cture of the Constitution Justified ?
(@) Because it is the wish of the majority party in Parli

ament.
(b)  Because it is absolutely necessary in order to kee

P pace with changing times,
(c)  If the change .1s .necessary in the context of Social, Economic and Politica] Milieux.
(d)  If the change is in the form of value addition to existing rights.

Correct Answer Options :

(1) Only (a) @) (a), (b) and (©
() (b), (c) and (d) (4)  All of the above

THeedl HTATHTS S/ SPACE FOR ROUGH WORK
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- wn@ﬁa’ra’?ﬁ”lma?ﬂﬁ g

See FTETETSr ST/ SPACE FOR ROUGH WORK

Scanned by CamScanner



Www.byjusexamprep.com E BYJU'S

Pl4 34 B

41.  Sfqe Wt w5 ?
(1) foerert gSh fimsmm 2o e o,
(2) F\fﬁmﬁaﬂ%mwmw_
(3)  To-Fort o, wetem smer gy s a0
A SR I T et I el Fon s e

42. ﬁwmnﬁ‘@nng'm?
(1) S SiRferet s et S Scarien i,

ol
O@ UM SHAYR] e, (¢)\ snwﬁqmsmﬁ.

K e sy st frp,

(2) mﬁwm@mmmvf{ﬁaﬁsﬁwaﬁ
AO) I Reet g 4,

S SN fefeerdt sforfias s v,

oA HATHIS WM/ SPACE FOR ROUGH WORK
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followi
geadithefotowing passage carefully and answer the questions no. 46 to 50.

So Tiziano conti P I
b e black, drawn wirtlll:ehq to .dla_W. But one thing troubled him greatly--all the pictures he made
1S piece of black charcoal. Yet all round him glowed a perfect glory of

iT—the beauti :
Icl?rlg}lzhe red, B}Iutgilngluil?f the §ky; the delicate, changing pink of the great jagged peaks above
mell’owed tints in the ol}él hgw wild flowers; the golden brilliance of sunshine; and the rich, soft,

R SN uses of the town. Colour! Tiziano loved it more than anything else in
aints, and paints were Lo "eproduce it and get it into his pictures ? He had no money to buy
Esten ;0 anything so foofixgensge in those days. His father, who was a mountaineer, would never
Sh as buying pai . ——— T L nd

fuel to keep them warm. ymg paints for a boy when the family Eggge’d__{qu, clothing

Le; le'laél? make shoes! There was a trade for a man! All the same, Tiziano continued to
dream of painting and to wonder if there was not some way he could make a picture in colours.

The day before the f.estival of flowers, Tiziano chanced to pass the spot where the garlands
had.been woven ] 9 Defore. Suddenly, he noticed stains on the St(EIES_O_‘f_tiI'M Ik befo
the inn. They were stains from flowers that had been dropped and crushed, and those stains were
coloured! .They were every colour that a painter needed! In a moment the feast and the fun went
out of le1a1}o s mind. C_a_tgr_‘gi saw her brother heading away from the merriment and hastening
out of the village. She ran to bring him back and found him in a meadow like a variegated quilt
from the brilliance of the wild flowers. “Tiziano!” she called, “WHhy are you running away from
the feast ?” The boy did not answer for a moment. Too often he had been teased by his family and
the villagers for the crazy dreams in his head. At last he answered bluntly, “I have found that the
stains of flowers make colours, and I am going to paint a picture.” e

46. Tiziano’s father wanted his son to be a

(1) Painter );a/’ Cobbler (3) Florist @I NV fountaincer

47. Which of the following word best describes Tiziano’s father ?
,(.1»)/ miserly 0&‘2) artistic (3) insensitive (4) generous

48. At the end of the passage it is clear that Tiziano had discovered :

/ /tl\) that he could fulfil his dream of painting with colours obtained from crushed petals.
(&)\ that painting was a better profession than making shoes.

"(3) a way to make his sister happy.
_EL a way to add the fun of the festival of flowers.

FTAT TS A/ SPACE FOR ROUGH WORK it
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49. Tiziano’s ‘crazy dreams’ that are mentioned in the second paragraph refer to his desire to :
Ok('l) Make the best shoes in the land.

(2)  Find a method for recycling the flowers from the feast.

O’(ﬁ) Bring prosperity to his family and his village.
_y~ Paint pictures in colour.

50. In the third paragraph the word “Variegated” meal
—

/(y)/ marked with patches of different colours /
(2) having different designs

(3) flowery

(4) of different varieties

wagmmmm%mmm
. - i = SE= shHIsRE IS 2. Fieiten A1k 39
% ST R R ferelieh wfecht {92 12 2 ot et 23 71 8. T 3 el 71 S freg e
\ T g foeft @ forel 9 foe=n s fagd o= ge=n waer fae suaen qEd fee.
% Felt o T A S o i fee be, WS frd fee T A @ e W @

51. YS! ure A s

W bl 1o fedien i, 2= fedien <m s 3=n fradien u amar o feifa s
I 1 FEHd FIedl. ST U@ fSehTor shiomre=E qieea A fag 8 @ 99 S T st ot ot
%{/\'\ Ul R N GEAE! erer TE e

% g/wé& (2) 9 fdan 3 (E?)KW‘}T@I (4) Wk fehen

Five friends wanted to go on holiday together to one nearby village, but they found it difficult
to decide where to go. Jai and Mano both wanted to go to Pane, with Fene as their second
choice. Kali wanted to go to Make, while Lily’s first choice was Gute and Naz’s was Tembe.
Naz and Kali both put Fene as their second choice, while Lily gave it as her third choice,
preferring Tembe as her second choice. Kali and Mano put Tembe as their third choice.
Jai's third choice was Gute and Naz's was Make. They agreed to allocate three points for a
1% choice, two points for a 2" choice and one point for a 3™ choice. The friends decided that

they would not go anywhere which was not someone’s first chojce. Select the place they did
go for holiday.

(1) Only Tembe (2) Pane or Tembe (3) Only Fene (4) Make or Gute

oA FHIHTETS! SFT/SPACE FOR ROUGH WORK
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52. ggﬁwmﬁﬁﬁﬁwmawmmmmwmmm

o fF ST feha e Sewfsta e T, i e

7 ST SO o1 Wb Sae St e, el e A St
ST S TR TRARIE A SfAemaTe STEer o qe A1 Sl el LA Hhdl.

2) wm@mmﬁﬁmam@m@mmmw%
q;;lﬂ IR e T = o §R @) qevar Saeu Fad T 0 goe frerEd

(3) it MO YRS qErAr ¥ we dee | UEie ST SerAl avArEel arof A
AT SATTTTRAT ST,

(4) 21 afediel S RO farmdieT= Yedt GO A e A Faeien W e, AfEAT 19 Tt
YA SSFRI USaYd T Hd HeTH of U & Iehd TEl.

Study the reasoning used in the argument given below and select the option that most closely
follows the same reasoning.

If heat or light is emitted by a body, then its energy decreases. It follows that, if a body’s
energy remains constant, it has emitted neither heat nor light.

(1) When either freedom of speech or freedom of assembly is present in society, democratic
government inevitably results. If you live under a dictatorship, you must therefore lack

both of these key liberties.

(2)  Either the fans are very loyal or they don’t mind the team losing week after week. No
fans like to watch their team being beaten, so they must be very loyal.

(3) With water and sunlight this plant will thrive, since both water and sunlight are

necessary for a plant’s survival.

(4) Anybody over 21 who holds a university degree or equivalent is eligible for selection.
Since Amina is 19 and still an undergraduate, she cannot be eligible.

FE TS W/ SPACE FOR ROUGH WORK i &
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53. T TIEEES ure folde. | witan Hwert gw wcht. sferEren st mford, sy faRm e
et o sfery AreAmed wSt faw g o e eerd s fauar et ?

0@ S (2>/vﬁ'ra (3) i 0‘&) zfaer™

For an examination, there were FIVE subjects. Examination starts on Monday. Mathematics
paper was previous to History. Science paper was after Geography and Marathi paper was
in between Geography and History. Examination starts from which subject ?

(1) Marathi (2) Mathematics  (3) Geography (4) History

54. P,QR,S,T MU =erft efid srefereat s, AT Teh KAt 7L, U KA AR Horep,
@WWMW@WHWW%WW% 1 Ted 3 feanfaa
STt 3R T AR S ¥t ForalTe et 12, <t Saerdt o2, et wehel S et T et

Tl foha T Yot e, R & =i e 2ud "ees fay U an e faae i
;J?aﬂ%. P S ¥l foaTe enl o o T & =1t S T fectean i CIE|

AN e femish v wen fifm w0
@y S ol e e of e T
By ot e 2w e o T e 7oy e o
(4) 91 TE THRRE O S G AR

P, QSRASHT, ;.md U are greep activists. One is a teacher, one is a health worker one runs a
tea stall, one isa librarian and two ladies are farmers. There are two married c01,1 les in this
group. The librarian is married to S who is a farmer. None of the women in the gfou S runs
a tea stall ora nurse. R runs the tea stall and is married to U who is a teacher. P is nliarried
toSand T is not a farmer. Select the statement that is false from given options

(1) Itis not possible to ascertain total number of women members of the group o

(2)  The person who is librarian is definitely not a women.

(3)  The person who runs a tea stall is definitely male member of the group

(4) There are definitely three female members in the group.

FHoeAT KIS W/ SPACE FOR ROUGH WORK
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of
\ f z ’ 382 é 60
}/ 5 8‘716,_

® > 2) 3

3 4

How many of the following numbers are not divisible by 273 ?

/@%@ 5733, 3822, 8736
@) 5 (2

) 3 [O

56. TS S H&T GHAET tf=h <F ae feavamdt faaen watEiq sfed wesie! el “&

fHT o AThEl &l Faleed Grromﬁ T AR IS AT oAl faHm FHErA

SaN() STrRIETEl AT TIHA (2) fa= snftn et
3) Iy SIfor SArfSIeanon (4) ot Sfor ST

Select the appropriate pair of words from given options for filling the space and make two

sentences with equivalent meanings.

ers who were accustomed to being addressed in a more collegial

Rasysenior g o e alienated by the tone of the new department chair’s

and egalitarian manner Wer
introductory remarks.

(1) Sanguine and Propitious (2) Saturnine and Ignominious

Imperious and Peremptory

I 1
(3) Peremptory and Ignominious ()/

—— T R ROUGHAEEES P.T.O.
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57. UREN R Y =T T "o faaeret et faen

JQ

v 0| b S| o Q] & D

Select the fold that is obtained by folding transparent sheet Y.

J_

> Y </

AR - (Do

58. @wﬁ%g@qﬁaﬁmaﬁ,ﬁaﬁmf@ﬁwwaﬁ,wwﬁﬁ
180° T e A R A foeg I 270° G ead), TR S ol T o el o 2
(1) ufe=m () d9F= 3) W @y ==

A man is facing towards West and turns through 45° clockwise, again 180° clockwise and
then turns through 270° anticlockwise. In which direction is he facing now ?

(1) West (2) North-West (3) North (4) South-West

ST SIS S/ SPACE FOR ROUGH WORK
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59. BHS C &I 5 Atk s, A v P et ST
e e B ey T 14 31fer atRd. o fasishea TH GHA 2l

(1) ATBTIR6TEA 1foT B a1 C a2 3 ¥, G
) AHBW?S?&‘EWCWAW?6W > 5
o
@/AWCW?SQ%WBWAWQW_ ) Nz
.f),A’ \©

(4) ATCTMI 2 B &t C oz 5 e, L
\

B has T 5 more than C. A has 14 more than B. Select the transaction that makes equal
money to all the three.

1) AgivesX 6toBand B gives ¥ 3 to C.

1)

A gi Y
(2) gives X 3 to B and C receives ¥ 6 from A. ‘/,)(
(3) A givesX 8 to C and B receives ¥ 3 from A. J
(4)

4) AgivesI 2to Cand B givesI 5 to C.

60. T TawreHed 2 ofe, 3 fexa amiftn 2 fies <ig . ma@ﬁ@ﬁ%aﬂﬁgmmwwéﬁg
fear o= HereAan fedt ?
2 11 10 5
. AN bl
If a bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the

probability that none of the balls drawn is blue ?

11 10
W 2 D ® 7 @

\
&~

N1 | ot

< 61. fleST, MITE, STIR 30T TRIM 21 I YeSiEA1 3ok Hehdiel STRTRIea ATal 1456, 3154 & 4231
ST, SEMI 91 YIeS@re! Febdl FerSt.

(1) 5625 M) 4265 }3—)/ 3265 (4) 3526

mong REST, MITE, STIR and TRIM are listed here in

The number code for three words from a
Select the code for word SEMIL

a random order as 1456, 3154 and 4231.

(1) 5625 (2) 4265 (3) 3265 (4) 3526

FeaT HmrErs S/ SPACE FOR ROUGH WORK Py
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62. e TR FRrAEie Sl FAfHdt snfor Wi s i greenn e fafere gsween
Seemie e o fotueeril sere frreA i See el e qUAr TUErd e gare
el TER AR R YA I e ST e IUAT e Hefelel J1eiies @eeol e FIr
T S HehTaTI TS, TSIl HigH WAl ST9 e e,

mwmmﬁmmﬁmﬁ,ﬁaqﬁ%m@amaﬂuﬁmww%
HAT T5A ? .

oN1) SR B gEHE WIolt T WIS &5 e @il AR S @v M
eI a3 Riveaie I=dred el a8 a1 e Shideal.

gt

(2~ ST ! ITAR ST elTes & FHA W0 WS Toig] Fehed ATl T FHREA AT qofrrere]
SIE=1 Hes Jeldiet.

(3) SR I GG WUAIehed Sclidiel 2Tehls, qareii= HepT TECIE Teeid Bl Fel A& L dl
AT GRS IguF Bl

OA(E) & T SO T ST ST ek e o et e s e

The intake pipes of nuclear plants and water plants along Great lakes are clogged by a certain
variety of mussels that proved to be causing nuisance to the working systems. But it is found
that the bags of these calms when suspended in the effluent streams of chemical plants, not
only improves quality of water significantly but also remove some hazardous wastes from
effluents just by feeding voraciously on the algae that they filter from water that passes by it.

Which one of the inferences given below, if true, is most strongly supported on the basis of
information given in the above paragraph ?

(1)  If these mussels spread to areas of the river and displace native calms that support
cultured pearl industry for decades, that industry will collapse.

(2)  If the mussels failed to consume the quantity of algae available to them, then the intake
pipes of the nuclear plants and water plants will get clogged by it.

(3) If the wastes from the effluents are not transformed into non-hazardous chemicals by
these mussels themselves will become hazardous pollutants.

(4) These mussels are brought in this area through freighters and are thriving here since
their population is not controlled naturally in the ecosystem.
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63. A B CAD W KM Tt 57130 7 a2 D = 99 Fifvsd 40,

farar e 2 0 iy

-

L AYCE o= 36 60 9% o1, @f“

1L D =it A Yar 10 awft o a2,

fecteetl T ST frasvarn gfie s s e

(1) o T 13 o vz e 11 we el forar G ST,

(2) o 1 11 TR el et G Tl SR

(3) he e 1 W et foet gt o o foe 11 < e

(4)—Tau™ 1 9 11 9Y7 [aere faar uwiaas Qi .

The average age of persons A, B, C and D is 30 years. Determine the age of D.

Data statements :

I.  The sum of ages of A and C is 60 years.

. Dis10 years younger than A. —

Select the correct option with respect to getting solution to stated problem.

(1) Data provided in the statement I alone or statement II alone is sufficient.

(2) Data provided in the statement I and II together is sufficient.

(3) Data provided in the statement I alone is sufficient and statement II is not necessary.

(4) Data provided in the statement [ and II is not sufficient.
FoT FHTHTETS 9/ SPACE FOR ROUGH WORK ey
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64. WA T @, §, ¢ 7 # 1 Feaien GATHATON ST R Lo
A ¢ BTUSI A BT B U&T HIaT TRl 45 = 2
A'$ BTEUS A 1B ey ofgr fehen THE ATl /\@
A @ B U A B B ey et fahan g9 el j’ < LQ}
A # B U A B B U8 &M A& o P <
fee=: H¢D T$D F$H
A dﬁ) FéD (I) T#F (@) D$F P—'S D
A T 5 H & . 5 >€_
(2) H ATEM (1) T . F > H

(3) AT IEA (IIT) W M

(4)  STIHM (1) (1) W

In following question, the symbols @, $, ¢ and # are used as follows.

A$'B means A is not greater than B /
A'$ B means A is neither smaller than or equal to B N \Q\ / \\

A @ B means A is neither greater than or equal to B / > \ m

4

A # B means A is not smaller than B ?/ ﬁ ’/

Statement : Hé¢D, T$D,F$H

Conclusions : I Fo¢D () T#F (II) DS$F
Which conclusion/conclusions are true ?

(1) None of true

(2)  Only conclusion (I) true

(3) Only conclusion (1) true

(4)  Conclusiong (I) and (1) trye

HeHT HTHTETS ST/ SPACE FOR ROUGH WORK

Scanned by CamScanner



wWww.byjusexamprep.com

B
45

65. o1 T S 218,700 =
m@aﬁ,mls%mmm?

%\Q) < 21,000 /\ (2) % 22,000

When a plot is sold for ¥ 1

By 25,300

BYJU'S
@ hy,
~ (569
/)7 P14

e, Yo o rerehra 15% e e, ot < e feedien ferre

(4) T 25,800

o it e 8,700, the owner loses 15%. At what price must that plot be sold

(1) ¥ 21,000 (2)

% 22,000 (3) T 25,300

(4) T 25,800

66. TP R A, B, C, DHE ST 5:2: 4 . 3 o ey fewmmer SR, SR C @ D 38 X 1000 S

fHeared, T B = a1 faedt srie 2
(1) X500 2) T 1500

By % 2000

(4) T 2500

Some amount is to be distributed among A, B, C, D in the proportion of 5: 2 : 4 : 3 respectively.

If C gets I 1000 more than D, what is the share of B ?

(LRSS0 (2) 1500 (3) % 2000 4) 2500
67. JEIct Hifedl hcasiyeish aTe § EET J¥AT 3w faet. @ Y

(a) XFY 1 9 R .- @
(b) Z@ X 5 e W® -
() MTN T S 3T N \Wfo
(d) NEY = et aw 2ix q;
M = e STEOT KT 10T 2 | gk 2,

- X @ Y 2 4 N (&
Read the information carefully and using it select the answer to question. s

<’

(a) Xis a brother of Y q/‘?/S/ @ (7)4}-.;/0 ,)75'5
(b) Zis a sister of X % g

(c) M is a brother of N
(d) N isa daughter of Y

y
Who is a uncle of M ?

(1) X 2 Y (CIRRE

e saradt T/ SPACE FOR ROUGH WORK

P.T.O.
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65. 181 T ST X 18,700 1 feraeft, ey o Wrershrt 15% T4 31, A S febelt febriven feramoren

66.

67.

Froe TATETS AT/ SPACE F

aifest B, TUISt 15% T STel e 2

1) ¥ 21,000 /\ (2) T 22,000 By 25300 (4) T 25,800

When a plot ig sold for ¥ 18,700, the owner loses 15%. At what price must that plot be sold
in order to gain 15% ?

RS ZER00 (2) 22,000 (3) < 25,300 4) T 25,800
T A A, B, C, D W1 SR 5: 2 4 : 3] FHINIK FAMTEAE Sfie. S C ol D 48 T 1000 S
faerel, aX B =1 9 fohdt o1 de ?
(1) ¥ 500 2) % 1500 (Y T 2000 (4) T 2500
Some amount is to be distributed among A, B, C, D in the proportion of 5:2:4:3 respectively.
If C gets T 1000 more than D, what is the share of B ?
(1) ¥ 500 (2) ¥ 1500 3) ¥ 2000 (4) ¥ 2500
WWW@EQN[H@Q@ﬂWWW, \’&'}cﬁ/
o
(a) X@Y N UG 3R ,g/s/ &
vhs® e
b) ZE X =T T \
() ME N S 3T NG \’)_(ofo
S
(d) N @Y = gertt S ~ q5<
M = ST STEOT S T ? ¢ )
B @ Y o2 8l &
Read the information carefully and using it select the answer to question. /’;
- 5
(a) Xis a brother of Y *')/5/ \g?),u’v 0>
(b) Zis asister of X wq/\ A= y/vo
\ -
(c) Misa prother of N / \(pb n &
(d) N isa daughter of Y /
Who is a uncle of M ? e
G Z
m X @IS
OR ROUGH WORK P.T.O.
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(b) SR STH T Vg wieRt Wead AR, i
(c) <Pl et Waarg fredt St et wer.
(d) 16 aufErclie e Terg Yeeht 2rdt wrerdr.
ot Sy
(1) waremn d-ver e o st sren o =it gieht Warg, Se.
AQR) T 2t et wd s g Qe .
(3) mmww@w@am.
(4)> SUTIH! Ul T,

Study the statements given below and conclusions that follow these. Select the appropriate

conclusion that is based on given statements. Q
(@) Al hockey players playing on the ground wear T-shirts with blue %mblem.
(b)  All players who are on the ground don’t play hockey.

(¢)  Some hockey players also wear blue caps.
(d) Hockey players who are below 16 years always wear a cap.

Answer Options : ' ()
(1)  All persons having blue emblem on their T-shirts are hockey players.
(2)  All persons wearing blue caps are hockey players.

(3)  All hockey players wearing a cap are below 16 years. Q&
(4) None of the above.

69. A,B,C,D,EmFﬁaﬁwma%mmﬁ@m@a@mma@wmm

% D (2) I F (3) THR D féar F (4) WHWE
Children A, B, C, D, E and F are sitting in a circle facin
given here and playing game Chinese-whisper.

g each other not necessarily in order

. : . A is sitting opposite to F and to the left of C.
E is not adjacent to either D or B. B is not adjacent to A, Ippr is the first child to say the

message and whispers in ear of child on its le
chance to whisper message at end of the first round.

(1) Only D (2)  Only F (3)  Either D or F (4) OnlyE

el FIHTETS WA/ SPACE FOR ROUGH WORK
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(1) 25% @ 21% 9)/16%% @ 16%

Study the pie chart of percentages showing crime against women in states A, B, C, D, E and
F of certain country in the year 2018 and accompanying information. Total number of cases
registered crimes were 210000.

If the proportion of nature of crime remains the same for each state and percentage of dowry
death cases registered is 9 then select the percentage by which dowry death cases in state E

is less than that in state B ?

2
(1) 25% 2) 21% (3 165 % @) 16%

T wTETS S/ SPACE FOR ROUGH WORK : e
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(1) mamﬁwﬁa@sﬁmmmwﬁ%mﬁﬂ{mmmﬁ%ﬂ@
FIPITITE T a1 eyl Ao ST TomH s b AT Hifed ol 3
FA B YfFaed T B .

AN\B) I T S S Qe SEe § S ST O IR W S o g

(3) TG AN HiwT foo) e HlerRier THe SEUATE BV B ST YN g3
ST 3T S ¥ Tl RI= See ST oTet Wae PRy ST,

(4) E@ﬁﬁ?ﬁﬁr#&mmﬁﬁﬁvﬁwﬁwwm%ﬁmaw
WWWWWWWWWWWWW

Read the following ar

gument carefully and select the most appropriate option that if true,
indicates that their de

cision is not aimed at decreasing team member’s risk of heart disease.

A team of researchers studying effect of drinking coffee have found that persons drinking
more than four cups of coffee have a risk of heart dise i

(1)

(2)  Subsequent studies have shown that non-smoker ‘
S cons d
the rates of heavy smokers, ume coffee at about one-thir

Scanned by CamScanner



B

WWwWw.byjusexamprep.com E BYJU'S

49 P14

72. O R TH 2T 494 A SR, o gt srereren oS A ST 17, O S A

73.

mém@mﬂﬁ“*@ﬁmmm%ﬁa@.

N

(1) 18 hr. (2) 12 hr. (3) 9 hr. 4) 10 hr.

il

A p'ip(-e can fill the tank in 4% hours. But due to leakage at the bottom, it takes 12 hours more
to fill it. If the tank is full select the time that it will require to get emptied due to leak.

(1) 18 hr. 2) 12 hr. (3) 9 hr (4) 10 hr.

N {)L%r;

", - Al

T IR el Taft STRA. et 79 Tah ATt T <@l val fouhaet oMRd.  Aiiel A X
0T fouhd! oMRd. TURIeTdiet faea T Tadiien Toish Jedrel Tehar qu ome fohen foush o,
TR IR e YediRT WAt wa 50 oTed. I IR Y e STered! A

g fael

a certain number of birds. Nine are crested birds and ten are spotted

: i in the avi
birds. Some of these have crests as well as spots. Of the seven yell_ow birds in ary,
e:(':hsone only has either crest or spots. Of the four red birds in the aviary all have spots only.

Select the minimum possible number of birds that are there in the aviary.

In an aviary there are

1) 19 (2) 17 (3) 15 (4) 10

e FHWTES W/ SPACE FOR ROUGH WORK P.T.O.
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C | GE L ELLSRE TS FrehdTd.
(1) UvATETee Wrenfieh! wid S 15 &R B ; et
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(2) HAq BV AFHES S0 il o T i B :

By TGl W e wEdeaT fae e Hd S UK ST
Teifed qae SequamiEt HTdl J5d.

(4) TUIRETCHE W SRR . .

Read carefully following passage and select the statement that best describes focus of

argument. : b .

Using technologically advanced manned and unmanned undersea vehicles it is possible for

oceanographers to observe sea floors. Direct observations of the ocean floor are made by

deep-diving submarines and some of these submarines can dive to depths of more than severa]

miles and cruise at depths of 15 thousand feet. Radio equipped buoys can be opgrated by

remote control in order to transmit information back to land based laboratory mcluding

data about water temperature, current and weather. Some of mankind’s serious problems

especially those concerning energy and food may be solved with the observations made by
possible with these underwater vehicles.

(1) Technologically advanced undersea vehicles can cruise at depths of 15 thousand feet.

(2) We are facing serious scarcity of ener
population.

(3) Advanced underwater vehicles collect informa
for solving problems related to energy and foo

(4) Functions of advanced undersea vehicles,

gy and food with respect to ever growing

tion about sea floor which can be used
d shortage.

1
75. 4oow,mmm9mmmwmzwmﬁamww. W R feast &
nﬁﬁ8mmaﬂmﬁﬁﬁﬁaﬁ!ﬁaﬁmaéémzoﬁwmrwmeﬁa?
@275 (2) 250 (3) 675 4) 400

th

400 persons, working 9 hours a day complete d of the work in 10 days. How many of

additional persons, worki 8 h : _
20 days ? p rking o hours a day, required to complete the remaining work in

(L) 275 2) 250

FoeAT HATHG! 1T/ SPACE FOR ROUGH WORK

L—-_k

Scanned by CamScanner



W ] T R T R O 0 R SO Ty AW 22 e e
www.byjusexamprep.com

E BYJU'S

EXAM PREP

B
51 P14

Decision making and problem solving question no. 76 - 80

L ﬁﬁammwm?wmm. fiopyian T T el W el e
e Feranfee = oo sifaranfea smea. e HATEEE arifarerte fresaoamidt,
WW@@% ST BT Ty e HE e G’ AR HEr ErArEr
=i B : Qawn TS ST ST 31T S0 ST Skt el el 7 7 el < Are.

T SIS ST ST NTUAT YaefTe o e =T, g@mmmqﬁﬂwﬁwmmm
TS HIOTATRT Fall G Tehoard . ...

TR W‘memwmmmmﬁ%ﬂﬁw

STeRTAIe] AT Hafed Hearel qear. 3

3) ..:.aumwwwwmwww:wmm
die <01 sk =iTer ® Rt o Ferien e =

&) meammwmmmm@m
mmmmmwmmmmmmm

You are the head of the “social cell” of district police department. You are approached by
the group of women and among them some are married and some are unmarried. They
claim that they are pressurized and in some cases threatened by their families to participate
in ‘Guru-Seva’ programme of certain holy sadhu during last fortnight of next month, for
earning his blessings for the prosperity of the family. The members of this group don’t believe
in this kind of devotion. You met this holy person on many occasions but never heard anything

wrong about him. You would........

(1) 1, ;- coNVINEERWOTIED, that it is their duty to participate in Guru-Seva for earning blessings
for the prosperity of their families.
(2)1 s seek a written complaint from each woman and send appropriately worded notices

milies for forcing any member of the family to participate in such

to the concerned fa (
his or her will is illegal.

programme against
3) convince women that it would be better to tackle their own family problem with
""" g towards eradication of superstitions.

GO, schools and colleges to organise campaign in the district to

Ip of N Y .
(4) ;;;L;a;:ot;lz k;ivr;r(()e of the fact that it is illegal to force persons to participate in su h
programme against their will. |
sl TR
FTeraTst </ SPACE FOR ROUGH WORK 1 v
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378 ?

: EACE [ RE :
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p/ﬁaﬁsﬁmmﬁmmmwmﬁqummwm
(3) T faurg vl HeomHEed S fahar s arasd g wfedt e, mem s
TIE Geferd Fiewaridl Sucteerl e ie.

4) T e Gehue frepstarEl giEd e dredd sehiaa wE fUsh YR Savamd o
Og AT STECICA HIHATR a0 & 3o,

You are a farmer by profession and own a few acres of land. Many other farmers from
nearby places, those own insufficient land and landless people, work as labourers on your
farm. They do all sort of work including spraying insecticides and herbicides. Many farmers
in your district committed suicides and continued to do so including some of your workers,
You came across the newspaper article that informs that many studies all over the world
claim that insecticides play major role in motivating persons to commit suicides. It is not
limited to commit suicide by drinking insecticides. While handling and spraying, molecules
of insecticides are inhaled and get accumulated in the body over the years. This affects
human brain and neuro system and attitudes like frustration, depression and self-destruction
are developed among these persons. What will be your response to this information ?

(1) Twill provide all quality safe

' X ty equipment to my labourers and train them to handle
and spray insecticides with

necessary care,

(2)  I'will stop using these chemical insectic
remedies for saving my produce from

(3) I will consult reliable expert or
availability of safe insecticides, e

(4) I will have to wait for furth

( ides as they are life threatening and use other
tnsects without bothering about the yield.

ven if they are costly.

oAl HIAIES S/ SPACE FOR ROUGH WORK
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You are a medical practitioner and appointed by the prestigious educational institute for
allotting fitness certificates to all persons before they are employed in the institution. A
highly qualified person X is interviewed along with many other candidates and was selected
for the teaching post by the head of one of the department as the panel of interviewers found
him to be very competent. Two members belonging to your:.community who are faculty
members of this department approached you and pressurize you to give negative certificate
about X’s fitness. They are interested in creating trouble for the X and the head of the
department who belong to the same community. These persons might use their connections
and cancel your assignment with the institution in the future. You will.....

() B tell these persons that though you belong to the same community, you are not
| appointed to follow their suggestions. ' |
(2) R try your best to delay the appointment for some time and make X and the head of
the department, miserable only for some days to avoid pressure from these persons.
B) . certify that the person is not fit for the work for which he has been selected as his
heart is extraordinarily large for saving your appointment. 5
4 ... request them not to interfere with your work and allow you to execute your duties
scrupulously and righteously without any kind of biases.

AT HTATETSt WA/ SPACE FOR ROUGH WORK Al
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. You are working as a fourth grade worker in the solid waste management department of 3

municipal corporation. You joined the corporation after you father’s untimely death. Though
failed in 10" class you are a voracious reader. Observing your interest in reading, chief
supervisor in the department encouraged you to continue education and change you’r fate
W1th your personal efforts you have completed graduation in commerce and post-graduatior;
in social work. Now for continuing research in social science institute, you have received a
foreign fellowship abroad and have applied fora study leave. As per the rules of corporation
employee gets two year salary protected leave for continuing education. But the hgd of the’

corporation rejected your application and discouraged . : :
. . o y0u b askm "

do clefmmg work if you get higher education ?” Which way zvould gozu:ﬁhgn, fWhomvyﬂln

out this problem from the following list ? % oose for sorting

(1)  Discontinue your education as you are well ac
the so called higher cast persons th
strata even if they are appointed on

(2) zjglalj(] at‘ro)1 :htios }},);rlsg: a}:zré:tiy for rfemjnding him about educational leave provisions

5 :
e ployee of the corporation and about his disrespect towards

(3)  Try to know facts about rejecti icati

higher posts.

nd organize a itation with the
rent approaches and media 8 S
(4) Concentrate on the rejectio .

AT HHEIES S/ SPACE FOR ROUGH WORK
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zou are director of private educational institution that caters for the learners from KG to PG.
ou are .concerne.d about unfettered information flooding social media and about the effect
of such information can have those most impressionable. You will

(1)  totally ban access to the net in all campuses of your institution.

(2) requeststudents to take a pledge to be careful while makin

g decisions and taking actions
based on news. ‘ :

(3) design time table and request teachers to spend some time in class for conducting
discussions about the damages done due to fake news.

(4) assist learners to get empowered to identify fake news by making news analysis a
mandatory part of curriculum.
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